201 84FBEH X /3 L BE B I W8 B i 5t

Y 4 MERA | ERRE | BRASE | BERSE
VA K E T HE R 87. 6 87. 6
I3 + & 84. 4 84. 4
T 6 + & 84. 4 84. 4
#* 4+ A X 81.5 82. 6 82. 05
s A I 73 75. 6 74.3
¥4+ A X 73.5 74. 6 74. 05
A AL % = U (B) 71.5 36 78. 75
I F] # [ IJifi (B) 70 83. 8 76.9
TN # [ )i (B) 67. 5 80. 8 74. 15
KT # [ IJifi (B) 69 75. 4 72.2
e + [ )i (B) 53.5 81. 4 67. 45
Z2EF # [ )i (B) 53 77 65
&t # [ )i (B) 58 68 63
& i # [ IJifi (B) 58. 5 66. 6 62. 55
BN # [ )i (B) 59 65. 8 62. 4
FF # [ IJifi (B) 53 67. 4 60. 2
e HREEEW| 62.5 85. 8 74. 15
7K L HREEEN|  54.5 90 72. 25
Fheh | RESENR 63 79. 8 71. 4
= HREEER 62 76. 4 69. 2
HAE | HRESET 57 75. 8 66. 4
k] HREEER| 53.5 72 62. 75
T3 | ZHUMEW|  62.5 75. 4 68. 95
N 2BV ER 58 78. 6 68. 3
KR | RBUMENR] 47.5 85. 8 66. 65
7 2B ER 60 70. 8 65. 4
7K A& HHEUWIER|  46.5 83 64. 75
=4 |G UWEI|  55.5 73.6 64. 55
T 2R E T 55 73. 6 64. 3
VIR | RBUMEIR] 49.5 77. 6 63. 55
2 2R E T 48 77.2 62. 6




201 84FBEH X /3 L BE B I W8 B i 5t

Y 4 MERA | 2RARE | BRASE | BERSE
B FEHRUWEN|  43.5 80. 2 61. 85
WINAW | BBUMENR]  54.5 68. 4 61. 45
=k Z FHRYWE|  50.5 72.2 61. 35
L | BB UMEIR] 43.5 76. 4 59. 95
2B 2B ET 52 67. 2 59. 6
X | REUHE 50 68. 4 59. 2
F 1 2R ET 50 66. 4 58. 2
B Ik 4 2B ER 45 62 53.5
KB | RBUME|  48.5 i 24. 25
HRE K EFARIF 72.5 76. 2 74. 35
B EF AR 65 77.6 71.3
Kk 2 EFARIF 61 70. 2 65. 6
XI| B 24 76. 5 87 81.75
T &2 24 i 68. 5 76. 6 72.55
Rl 2 67.5 73 70. 25
KB FRAE 52 74. 4 63. 2
wERE A E T 60 81. 4 70. 7
FF 46 48 I JR & 64. 5 87.6 76. 05
AR I bR & U 61 86. 6 73.8
JE A & R = Vi 64. 5 79. 4 71. 95
ELAES & R = JF 57.5 86. 4 71.95
R I JR & 56. 5 87 71.75
FER I R & U 61.5 80. 8 71. 15
EXA It K & U 56. 5 85. 4 70. 95
&l I R & U 55 85 70
T X F I JR & 54.5 85. 2 69. 85
7K S+ I JR B 57 82. 4 69. 7
g kA It K & i 57 82. 4 69. 7
7 E% I bR & U 54.5 84. 4 69. 45
7 I JR & 56 82. 2 69. 1
X ¥z I R [ Vi 61.5 76 68. 75




201 84FBEH X /3 L BE B I W8 B i 5t

Y 4 MERA | 2RARE | BRASE | BERSE
EXiS I R [ Vi 52.5 85 68. 75
T %45 Il JR [ 55 82 68. 5
EES I R & VR 54.5 82. 4 68. 45

=% It K & U 55.5 81. 2 68. 35
=R I R & U 55. 5 80. 6 68. 05
N It K & i 53.5 80. 8 67. 15
& T F I bR & 54. 5 79. 4 66. 95

7K AR It K & i 55 78. 4 66. 7
FNEE I R [ 56 77. 4 66. 7
FRY It K & i 52.5 80. 8 66. 65
BK A 3 I bR & U 54 79. 2 66. 6

% I JR [ 56 75. 8 65. 9

E 8 I R & U 58 73. 8 65. 9
B I JK [ 57 74. 4 65. 7

GRS & R = R 52.5 78. 8 65. 65
BEZ I JR & 57 73.8 65. 4
IN K I R & U 53.5 77. 2 65. 35
Y om & It K & i 52. 5 75. 2 63. 85

B E & R & R 54. 5 73 63. 75
2t % It K & i 53.5 73.2 63. 35
7K K F I bR & U 55 68. 6 61. 8

T4 EE G 77 84 80. 5
T BEE 6T 69 75. 4 72.2

T % EE G 61.5 74. 6 68. 05
AR EE G 65 69. 2 67. 1




